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I, , agree to neither give nor receive any help on this

exam from others. | understand that the use of a calculator or communication device on
this exam is academic misconduct. I also understand that providing answers to questions
on this exam to other students is academic misconduct, as is taking or receiving answers to
questions on this exam from other students. Thus, I will cover my answers and not expose
my answers to other students. It is important to me to be a person of integrity and that
means ALL ANSWERS on this exam are my answers. Any violation of these guidelines

will result in a penalty of at least receiving a zero on this exam.

Signed

Binary Choice (worth 2 points each)

1) Based on the following graph, which of the following statements is true?

Good Y

IC1

IC,

BL, BL, Good X

a) X is a normal good, and Y is an inferior good.
b) X is an inferior good, and Y is a normal good.

2) Consider the doughnut market in a small economy. When the economy is closed to
trade, the domestic equilibrium price is $10 per dozen doughnuts. If the world price for
donuts is $15 per dozen doughnuts, who will benefit from opening this small economy’s
doughnut market to international trade?

a) Domestic Producers
b) Domestic Consumers
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3) Consider the market for corn that can be described by the following demand and
supply equations where P is the price per unit of corn and Q is the quantity of units of
corn:

Demand Curve: P =10 - 2Q

Supply Curve: P =2 +2Q

The government decides to implement an excise tax of $t for each unit of corn. What is
the price that consumers pay in equilibrium after the tax is implemented (in terms of t)?

a) 2 - (1/4)%t
b) 6 + (1/2)*t

4) Suppose Alice earned $20,000 last year. This year her income increased by $5,000, but
at the same time, the prices of all goods increased by 30%. In real terms, is Alice richer
or poorer than she was last year?

a) Alice is poorer in real terms.
b) Alice is richer in real terms.
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5) Suppose the government is investigating an excise tax on widgets. The government
finds that if it lowers the tax by 5%, the equilibrium quantity of widgets sold increases by
6%. Given this information, which of the following policies should the government
undertake if it wishes to maximize tax revenue?

a) The government should increase the excise tax on widgets.
b) The government should decrease the excise tax on widgets.

6) Suppose X is a small economy. Initially, X is closed to international trade in the
market for dairy products. When closed to trade, we observe an equilibrium domestic
price, Pe. Now suppose X opens the domestic dairy market to international trade, where
the world price is Pw > Pe. Given this information and holding everything else constant,
which of the following scenarios will occur when this market is opened to international
trade?

a) Consumer surplus will increase, and producer surplus will decrease.
b) Consumer surplus will decrease, and producer surplus will increase.

7) Susie’s marginal utility from consuming an additional cup of coffee is 10 utils and her
marginal utility form consuming an additional bagel is 20 utils. The price of a cup of
coffee is $4 per cup. If Susie knows that her utility will be increased by consuming more
bagels and less coffee given this information, then it must be true that the price of a bagel
is:

a) less than $8.

b) more than $8.
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8) Suppose at a price of $20, the total market supply of widgets is 50 units. If the price is
$21, then we observe a market supply of 51 units. Given this information, which of the
following is true?

a) Market supply is inelastic in this range of prices.
b) Market supply is elastic in this range of prices.

9) Consider the market for gadgets in a small, open economy, whose government has
imposed a binding import quota (i.e. the domestic price with the import quota is now
above the world price). Given this information and holding everything else constant, if
the government increases this import quota, which of the following statements is true?

a) Domestic consumer surplus decreases, and license-holder revenue increases.

b) Domestic consumer surplus increases, and the impact on license-holder revenue is
indeterminate.
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Multiple Choice (worth 4 points each)
Use the following information to answer the next three (3) questions.

Suppose, in the market for gas, consumers buy a constant amount of gas regardless of
price and the supply curve for gas is linear and positively sloped.

10) Assume that the government had already implemented an excise tax in this market.
The government decides to increase the excise tax in hopes that it will cover an
unexpected budget deficit. Which of the following statements is false?

a) Consumer tax incidence will be unaffected.

b) Producer tax incidence will increase.

c) Government revenue will increase.

d) The deadweight loss as a result of the tax will not change.

The next two (2) questions are based on the same information:

11) Assume that consumers inelastically demand 100 units of gas, and the supply curve is
given by the equation: P = Q where P is the price per unit of gas and Q is the quantity of
units of gas. The excise tax in this market is $25 per unit of gas. What is the price
consumers pay in equilibrium?

a) $75 per unit of gas

b) $100 per unit of gas
c) $125 per unit of gas
d) $150 per unit of gas

12) Assume that the gas tax imposed in the last question is still being implemented and
that the supply curve is unchanged from the one you were provided in the last question.
Suppose a second group of consumers enters this gas market. This second group only
buys gas if the price is below $10 per unit of gas. Below that price, the total demand for
this second group is given by Q = 100 — 10P. How does the entry of this group affect
producer tax incidence? (Hint: Horizontally sum this new demand with the previous
inelastic demand.)

a) Producer tax incidence increases.

b) Producer tax incidence stays the same.

¢) Producer tax incidence decreases.

d) The change in producer tax incidence is indeterminate.
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13) Using the following graph, derive the demand equation for good X. Assume income
is the same for B1 and B2, that the price of Y is $5 for B1 and B2, and that demand for
good X is linear.

Good Y

50 |

20N :

o\ _a

B2\ |

20 25 30 50 Good X
a) P = -2Q + 50
b) P = (-1/2)Q + 20
C) P = -2Q + 40

d) P = (-1/10)Q + 20

14) Suppose the price of beer is $2 per serving, and the price of cheese curds is $10 per
serving. At these prices, we observe that the quantity of beer demanded is 50. If the
demand elasticity of beer in the price of cheese curds (the cross-price elasticity) is -3,
approximately how will the quantity demanded for beer change following a $1 increase
in the price of cheese curds?

a) Demand for beer will increase by 3 units.
b) Demand for beer will decrease by 3 units.
c) Demand for beer will decrease by 30 units.
d) Demand for beer will decrease by 15 units.
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Use the following information to answer the next two (2) questions.

Amy is trying to decide what groceries to buy for today. Amy only consumes Milk (M)
and Bread (B). She observes that if she spends all the money she has allocated for
groceries on bread, she can afford 6 loaves. Alternatively, she can afford precisely 3 pints
of milk if she spends all her money on milk. Suppose a loaf of bread costs $1.

15) Which of the following equations represents Amy’s budget line and Income (1)?

a)M=6—2B: =36
b)M=3-2B:1=$3
C)M=3—(1/2)B; | =$6
d)M=6-(1/2)B; 1 = $3

16) Suppose milk and bread are perfect complements for Amy: that is, Amy always
consumes milk and bread in the same 1 to 1 ratio of milk to bread. Given this information
as well as the initial information and holding everything else constant, which of the
following consumption bundles represents Amy’s optimal consumption bundle?

a M=3,B=6
byM=3,B=3
c)M=2,B=2
dM=0,B=6
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Use the following information to answer the next two (2) questions.

Alice consumes only goods X and Y. The following graph represents Alice’s utility

maximization problem following an decrease in the price of X, changing her budget line

from B1 to B2.
Y

(10,20)
(35,15)
o, (20,10)

B2

17) Which of the following statements describes Alice’s income and substitution effects

given the above information and graph?

a) Income effect is 15 units of X; and Substitution effect is 10 units of X.
b) Income effect is 10 units of X; and Substitution effect is 15 units of X.
c) Income effect is 25 units of X; and Substitution effect is 10 units of X.
d) Income effect is 15 units of X; and Substitution effect is 25 units of X.

18) Given the above graph, which of the following statements about X and Y is true?

a) X and Y are both normal goods.
b) X is a normal good, and Y is an inferior good.
c¢) X is an inferior good, and Y is a normal good.
d) X and Y are both inferior goods.
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Use the following information to answer the next two (2) questions.

Suppose the nominal prices of coffee and pizza in 2014 and 2015 in Narnia are given by

the following table:

Year Price per Cup of Coffee | Price per Pizza
2014 $1.50 $14.00
2015 $3.00 $3.00

Suppose a typical consumer consumes of 4 cups of coffee and 1 pizza per day.

19) Suppose the base year is 2014 and the CPI is measured on a 100 point scale. What is

the CPI for 2015 given the above information and holding everything else constant?

a) 50
b) 75
c) 100
d) 125

20) As measured in 2014 dollars, what is the real price of a pizza in 2015?

a) $2.25
b) $4.00
c) $1.00
d) $14.00
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Use the following information for the next three (3) questions:

The market for coconuts on a small island is described by the following equations, where
P is the price of coconuts in dollars and Q is the quantity of coconuts:

Domestic Demand: P =10 - (1/20) Q
Domestic Supply: P =1+ (1/10) Q

The world price of coconuts is $4.

21) Given the above information, if this small island opens to trade in the world coconuts
market, how many coconuts will it import?

a) Imports = 30 coconuts
b) Imports = 60 coconuts
c) Imports = 90 coconuts
d) Imports = 120 coconuts

22) Now suppose the government of this island imposes a tariff of $2 per imported
coconut. What will be the change in Consumer Surplus from this tariff relative to the
value of consumer surplus in this market if it is open to world trade?

a) Consumer surplus will be unchanged.

b) Consumer surplus will decrease by $60.
c) Consumer surplus will increase by $70.
d) Consumer surplus will decrease by $200.

23) Suppose the government wanted to achieve the same outcome as they get with a tariff
of $2 per imported coconut but with the implementation of an import quota instead.
Assume that the government implements this import quota in such a way that the
government can capture all of the license-holder revenue from this program. To achieve
this result, the import quota should be set equal to

a) 90 imported coconuts
b) 80 imported coconuts
¢) 50 imported coconuts
d) 30 imported coconuts
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Use the following information to answer the next two (2) questions:

Oscar graduates in May and has gotten the following job offers:

Location Nominal Annual Salary Offer
New York City $60,000
Minneapolis $48,000
Chicago $56,000
San Diego $72,000

Oscar knows that the cost-of-living in Minneapolis is 20% lower than the cost of living in
New York City. He knows that the cost-of-living in Chicago is 10% lower than in New
York City. He knows that the cost-of-living in San Diego is 25% higher than in New
York City. Assume that each of these job offers is equivalent and that Oscar only cares
about maximizing his real income as measured in New York City dollars during his first
year of employment.

24) Given this information and holding everything else constant, suppose you were going
to create a CPI measure for each of these cities using New York City as the base city and
therefore giving the CPI for New York City a value of 100. Which of the following four
options represents the CPI for these cities given the information above?

Location Option A: CPI | Option B: CPI | Option C: CP1 | Option D: CPI
New York City 100 100 100 100
Minneapolis 90 80 90 80
Chicago 80 90 80 90
San Diego 125 75 75 125

a) Option A

b) Option B

c) Option C

d) Option D

25) Given this information and holding everything else constant, rank these options from
highest real purchasing power to lowest real purchasing power for next year.

a) Chicago, New York City, Minneapolis, and San Diego

b) Minneapolis, San Diego, New York City, Chicago

¢) Minneapolis, New York City, San Diego, and Chicago
d) San Diego, Minneapolis, New York City, and Chicago
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Use the following information for the next two (2) questions:

Consider the market for cheese curds sold at Memorial Union. Suppose the Union notices
that when they set the price of cheese curds at $6, they sell 40 units a day. Further, they
notice that when the price is $3, they sell 80 units per day. Assume the demand curve for
cheese curds is linear.

26) Using the arc (midpoint) formula, calculate the price elasticity of demand between
these two points.

a) 1/2
b) 1
c) 4/3
d)2

27) Given the above information, which of the following is true?
a) The revenue maximizing price is above $6.

b) The revenue maximizing price is below $3.

c) The revenue maximizing price is between $3 and $6.

d) All prices give the same revenue.
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Use the following information for the next two (2) questions:

Consider the market for sneakers in a small economy that can be described by the
following equations, where P is the price per pair of sneakers and Q is the quantity of
pairs of sneakers:

Domestic Demand: Q =200 — 20P
Domestic Supply: ~ Q =20P — 100

Furthermore, you know this economy’s market for sneakers is open to international trade
and the world price of sneakers is $3 per pair of sneakers.

28) Suppose now the government implements a quota of 120 pairs of imported sneakers.
Given the above information and holding everything else constant, which of the
following statements is false?

a) After the imposition of the import quota the new level of imports is equal to the import
quota amount.

b) The new domestic equilibrium price is $4 per pair of sneakers.

c) Domestic Producer Surplus will increase due to the imposition of this import quota.

d) Relative to the level of Consumer Surplus when this economy is open to trade, the
value of Consumer Surplus when this import quota is implemented will be smaller.

29) What is the deadweight loss (DWL) due to the implementation this import quota?
a) DWL = $10
b) DWL = $20

¢) DWL = $120
d) DWL = $130

END OF EXAM
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